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B simplity (2y — 3)(y + 2.

8)(2) Distribute 2y — 3.

Now distrihute y and 2.

Simplify.

T simplify (4x + 2)(3x — 6). - |
S T First Outer Inner Last

(4x +' @) - =G0+ (@x)(-6) + (AB) + (2(-6)

= 12x2 -  24x + 6x - 12
= 12x2 - | 18x - 12
The product is 12x2 — 18x — 12. |
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Find the area of the shaded region. Simplify.

3x+ 2
x+3

area of outer rectangle = (3x + 2)(2x — 1)

area of hole = x(x + 3}

area of shaded region = area of outer rectangle — area of hole
= (8x + 2)(2x — 1) —x(x + 3) Bubstitute,

= 6x2 — 3x + 4x — 2 —x? — 3x Use FOIWL 1o simplify

{3x + 2)}{2x — 1) and the
Distributive Property to

, simplify x{x + 3}
= 6x2 — x2 — 3x + 4x — 3x — 2 Group like terms.
=5x%2 —2x — 2 Simplify.
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L Simplify the product (3x2 — 2x + 3)(2x + 7\).

Method 1: Multiply using the vertical method.
- 3x2 — 2x + 3

2x + 7 |

 21x® - 14x + 21 Muitiplyby7.

6x3 — 4x2 + 6x Multiply by 2x.

6x3 + 11x%¢ - + 21 Add like terms.

Method 2: Multiply using the :h@:rizvomaﬁlk method.

L

@x + 732 — 2x + 3)
| .

Y/
= 29(3x3 — @321 + 24E) + (TP — (N1 + (7)E)
= 6x° — 4x2 + 6x + 21x% — 14x + 21
=6x3 + 17x2 — 8x + 21
The product is 6x3 + 17x% — 8x + 21.




